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PRE MODEL TEST – I 
PERCENTAGE, AREA VOLUME, RATIO & PROPORTION, 

TIME & WORK 
 

SECTION – A 
 

9. A metallic sheet in the form of a sector of a circle of radius 21 cm has central 
angle of 216°.  The sector is made into a cone by bringing the bounding radii 
together.  Find the volume of the cone formed. 
xU tl;lf;Nfhz tbtpy; cs;s cNyhfj; jfl;bd; Muk; 21 nr.kP kw;Wk; ikaf; 
Nfhzk; 216° MFk;. tl;lf;Nfhzg; gFjpapd; Muq;fis ,izj;J cUthf;fg;gLk; 
$k;gpd; fd msitf; fhz;f. 
Solution: 

  Radius of a cone (r) = 21 cm  
   Central angle (θ) = 216°  
  Let 'R" be the radius of a cone  
Circumference of the base of a cone 
    = arc length of the sector  

     2 2
360

R r


    

     R = 
360

r


     

            R = 
360

r


  

           R = 
216

360
× 21 cm  

      = 12.6 cm  
 Slant height of a cone (l) = 21 cm  

           h = 2 2l r  

     = 2 221 12.6  

     = (21 12.6)(21 12.6)   

     = (33.6)(8.4)  

     = 
336 84

28224
100


  

    h = 
168

16.8
10

cm  
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 Volume of the cone  = 
1

3
  R2h cu.units  

     = 31 22
12.6 12.6 16.8

3 7
cm     

     = 22 × 4.2 × 1.8 × 16.8 cm3 
      = 2794.18 cm3 
 Volume of the cone  = 2794.18 cm3  
 

10. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. In a mixture of 60 L the ratio of acid and water is 2: 1. If the ratio of acid and 

water is to be 1:2 then the amount of water in (litres) to be added to the 
mixture is 
60 ypl;lh; fyitapy; mkpyj;jpw;Fk; ePUf;FkpilNa cs;s tpfpjk; 2: 1 MFk;.  
mkpyj;jpw;Fk; ePUf;FkpilNa cs;s tpfpjj;ij 1:2  Mf;f Ntz;Lkhdhy;> 
fyitapy; Nrh;f;f Ntz;ba jz;zPhpd; msT (ypl;lhpy;) 
Solution:  

  Quantity of Acid  = 
2

60
3

 
 

 
litres = 40 litres  

  Quantity of water in it = (60 – 40) litres = 20 litres  
    New ratio = 1 : 2  
  Let the quantity of water to be added further be x litres  

   Then Acid : water = 
40

20 x

 
 

 
 

    Now, 
40 1

20 2x

 
 

 
 

     = 20 + x = 80 
      x = 60  
  Quantity of water to be added = 60 litres  
   

B. A man, a women and a boy can do a piece of work in 6, 9 and 18 days 
respectively. How many boys must assist one man and one women to do the 
work in 1 day? 
Xh; Ntiyia xU Mz;> xU ngz; kw;Wk; xU igad; KiwNa 6>9 kw;Wk; 
18 ehl;fspy; Kbg;ghh;fs; vdpy; xU MZk; kw;Wk; xU ngz;Zk; vj;jid 
igad;fs; JizGhpe;jhy; xU ehspy; Ntiyia Kbf;f KbAk;? 
Solution:  

   (1 man + 1 woman)'s 1 day's work  

  = 
1 1

6 9
  

  = 
5

18
 

  Remaining work  

  = 
5

1
18

 
 

 
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  = 
13

18
 

  Work done by 1 boy in 1 day = 
1

18
 

  Number of boys required = 
13

18
18

 
 

 
 = 13 

 
 
  SECTION – B                          

 
19. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. A farmer wants to fence his circular poultry farm with barbed wire whose 

radius is 420 m. The cost of fencing is ₹12 per metre. He has ₹30,000 with 

him. How much more amount will be needed to fence his farm? 
22

( )
7

   

xU tptrhap> 420 kP MuKila tl;l tbtpy; mike;jpUf;Fk; Nfhopg; 
gz;iziar; Rw;wp> Ks;Ntyp mikf;f tpUk;Gfpwhh;. mjw;F xU kPl;lUf;F ì 
12 tPjk; nrythFk;. mthplk; ì 30>000 cs;sJ vdpy;> mtuJ gz;izf;F 

Ks;Ntyp mikf;f ,d;Dk; vt;tsT gzk; Njitg;gLk;? (,q;F 
22

7
  ) 

Solution:  
 The radius of the poultry farm is = 420 m  
The length of the barbed wire for fencing the poultry farm is equal to the 
circumference of the circle.  
 We know that the circumference of the circle = 2 r units  

        = 
22

2 420
7

   

        = 2 × 22 × 60 
The length of the braded wire to fence the poultry farm = 2640 m  
The cost of fencing the poultry farm at the rate of ì 12 per metre = 2640 × 12 = 
ì 31,680 
Given that he has ì  30,000 with him.  
 The excess amount required = ì  31,680 – ì  30,000 = ì  1,680  
 

B. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to 
charity and A’s share is ` 855, then the total profit is 

A kw;Wk; B ,Uth; xU njhopy; njhlq;f 3 : 2 vd;w tpfpjj;jpy; KjyPL 
nra;Js;sdh;. nkhj;j ,yhgj;jpy; 5% njhz;L epWtdj;jpw;F toq;fg;gLfpwJ. 
kw;Wk; A d; gq;F ` 855 vdpy; nkhj;j ,yhgk; vd;d? 
Solution:  

  Let the total profit be Rs. 100.  

  After paying to charity, A's share = 
3

95 .57
5

Rs   

  If A's share is Rs. 57, total profit = Rs. 100 
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  If A's share is Rs. 855, total profit = 
100

855 1500
57

   

 
20. Answer the following questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. A shopkeeper gives two successive discounts on an article whose marked 

price is ₹ 180 and selling price is ₹108. Find the first discount percentage if 
the second discount is 25% . 

₹ 180If; Fwpj;j tpiyahfTk;> ₹ 108I tpw;gid tpiyahfTk; nfhz;l xU 
nghUSf;F filf;fhuu; ,uz;Lj; njhlu; js;Sgbfis mspf;fpwhu;. 
,uz;lhtJ js;Sgb 25% vdpy;> Kjy; js;Sgbr; rjtPjj;ijf; fhz;f. 
Solution:  
  Let first discount be d1% = ? (to find)  
  2nd  discount be d2% = 25% 
  Selling price is 108 (given)  

  Price after 1st discount = 180 (1 – 1

100

d
) = P1 

  Price after 2nd discount = P1 (1 – 2

100

d
) = 108 

  Substituting for P1 form (1), we get  

   1 2180 1 1 108
100 100

d d  
    

  
  

    
(100 ) 75

180 108
100 100

x
    

         100 – x = 80 
           x = 20 

 

B. A can do a piece of work in 12 hours, B and C can do it 3 hours whereas A 
and C can do it in 6 hours.  How long will B alone take to do the same work? 
A vd;gtu; xU Ntiyia 12 kzp Neuj;jpy; Kbg;ghu;.  B kw;Wk; C me;j 
Ntiyia 3 kzp Neuj;jpYk;> A kw;Wk; C me;j Ntiyia 6 kzp Neuj;jpYk; 
nra;J Kbg;gu;.  mNj Ntiyia B jdpNa vt;tsT kzp Neuj;jpy; Kbg;ghu;? 
Solution:  

∴ (A + B + C) =  

Now (A + C) complete the work in 6 hrs. 

  ∴(A + C)  =  

∴ B = (A + B + C)- (A + C) 
 

∴ B alone take 4 hours  to complete the work. 

1 1 1 4 5

12 3 12 12


  

1

6

5 1 5 2 3 1

12 6 12 12 4


    


